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QUESTION 1

Which Mist subscription is required for location tracking of Bluetooth badges?
A. Asset Visibility

B. Wi-Fi Assurance

C. Virtual Network Assistant

D. User Engagement

Correct Answer: A

QUESTION 2

You have designed a WLAN to satisfy primary coverage, secondary coverage, and capacity requirements. However,
you still do not have enough BLE radios to satisfy your location requirements. You want to fill the gaps with a low cost,
BLE- only device.

Which Mist device will satisfy this requirement?

A. AP41

B. BT11

C. AP32

D. AP43

Correct Answer: B

QUESTION 3

In a standard roam from one access point to another access point, what makes the decision to roam?
A. the controller

B. the access point

C. the client device

D. the cloud

Correct Answer: C

QUESTION 4

You have discovered an access point that is not connected to the corporate network but it broadcasts the corporation\\'s
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SSID.

In this scenario, what is this type of access point called?
A. honeypot

B. neighbor

C. rogue

D. air gap

Correct Answer: B

QUESTION 5

Under ideal conditions, which frequency band will have the farthest usable range?
A. 900 MHz

B.2.4 GHz

C.5GHz

D. 6 GHz

Correct Answer: B
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